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1. Match List — [ and II and choose-
the correct matching from the
code given below :

List—1 List— 11

Constitution Provision

(A) Directive (1) Scheduled
Principles of Areas

State Policy
(B) Fundamental (2) Uniform Civil

Rights Code
(C) Fundamental (3) Abolition of
Duties Untouchability
(D) Fifth (4) Respect for
Schedule National Flag
Codes :
A B C D
(1 4 3 2
22 3 4 1
3) 4 2 3 I
4)2 4 3 1

2. The following is not a
Constitutional authority in India :

(1) Comptroller and Auditor
General of India

(2) National Commission for
Scheduled Castes

(3) Union Public Service
Commission

(4) Planning Commission
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The northernmost Harappan site

discovered so far is

(1) Mandu in Jammu and
Kashmir

(2) Ropar in Punjab

(3) Harappa in Pakistan

(4) Alamgirpur in U.P.

Which of the following works
defines an identity of Karnataka ?
(1) Kavirajamarga

(2) Manasollasa

(3) Kalakeyavadha

(4) Ramadhanyacharithe

Asokan inscriptions are found in
the following scripts:

1. Brahmi 2. Kharoshthi
3. Aramaic 4, Greek

Find out the right combination of
answers.

(1) land2 (2) 1,2and3
(3) 1,2,3and4 (4) 1and3

Assertion (A) : In the Indian
Parliament a money bill cannot
be introduced in the Rajya

Sabha.

Reason (R) : Whether a bill is a

money bill or not is to be

decided by the Speaker of the

Lok Sabha.

(1) -Both (A) and (R) are right
and (R) is the reason for (A).

(2) Both (A) and (R) are right
but (R) is not the reason for
(A).

(3) (A) is right but (R) is
wrong.

(4) (A) is wrong but (R) is
right.
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Badami, the second capital of the
early Chalukyas was formerly
known as

(1) Vatapi
(2) Aihole
(3) Belur
(4) Halebid

The famous Iron Pillar near
Qutab-Minar belongs to

(1) Mauryas

(2) Guptas

(3) Vardhanas

(4) Kushanas

Who was defeated and killed in
the Fourth Mysore war at
Srirangapattanam ?

(1)
(2)
(3)
(4)

Tippu Sultan
Hyder Ali
Nizam-ud-daula
Syyad Brothers

Indian Institute of Science in
1911 was started at

(1) Mangalore

(2) Mysore

(3) Bangalore

(4) Mumbai

idol

70  feet  high of

Gomateshwara is in
(1) Dharmasthala
(2) Sravanabelgola
(3) Karkala

(4) Moodbidri
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16.

The leader who represented
Indian labour at the Second
Round Table Conference was

(1) Neelam Sanjiva Reddy
(2) V VGiri

(3) Jawaharlal Nehru

(4) Zakir Hussain

‘Kavirajamarga’ is ascribed to
the times of

(1) Krishnal

(2) Govindall

(3) Amoghavarsha I

(4) Dhruva

Advaita Philosophy
propounded by

(1) Ramanujacharya
(2) Madhvacharya
(3) Shankaracharya
(4) Yamunacharya

was

Justice Miller Committee was to
report on

(1) Constitutional Reforms.

(2) Ganapathi Disturbances.

(3) Reservation for Backward
Classes.

(4) Vidhurashwatha Tragedy.

Which of the following is the
National emblem of India ?

(1) Sanchi Lion Capital
(2) Rupar Lion Capital

- (3) 'Sarnath Lion Capital

(4) Allahabad Pillar Capital
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Consider the following
statements :
(A) In 2001 India had a

Population growth rate of
1.95% per annum.

(B) Then China had 1.8% and

(C) World’s average growth
rate was 1.8% per annum.

Which of the
correct ?

(1) Only A.

(2) Only B.

(3) A and B only.
(4) A,BandC.

following is

Pair of dominant items exported
from Paradeep port is

(1) Steel products and Cotton
textiles

[ron Ore and Manganese
Sugar, Jems & Jewellery
Rice and Spices

(2)
(3)
(4)

Pair of towns which lie between
rivers Aganashini and Sharavathi
is

(1)
(2)
(3)
(4)

Karwar and Gokarna
Kumta and Honnavara
Honnavara and Bhatkal
Bhatkal and Malpe.

Karnataka was formed in 1956
on the basis of the report of

(1) JVP Committee

(2) Wanchoo Committee

(3) Fazal Ali Commission
(4) S.K. Dhar Committee
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The longest day in Southern
Hemisphere is

(1) June 2l

(2) March 21

(3) September 23

(4) December 22

Which of the following States
has international boundary with
Myanmar and Bangladesh ?

(1) Tripura

(2) Mizoram

(3) Manipur

(4) Orissa

. Silver is most abundantly found

in the State of

(1) Rajasthan

(2) Gujarat

(3) Karnataka

(4) Madhya Pradesh

Fossils of animals, plants and
other micro-organisms are found
in
(1)
(2)
(3)
(4)

Plutonic rocks
Sedimentary rocks
Metamorphic rocks
Igneous rocks

Correct sequence of districts
which have large areas of laterite
soils in Karnataka is

(1) Bijapur — Bagalkot - Bidar

(2) Gulbarga — Yadgir —
Raichur

(3) Shimoga — Chitradurga —
Koppala

(4) Kodagu — Dakshina

Kannada — Udupi
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The most important factor in
thunder storm development is

(1) Atmospheric stability
(2) Temperature inversion '

(3) Abundance of moisture in
lower layers

(4) Atmospheric instability

The velocity of the wind is
measured by

(1) Thermometer
(2) Anemometer
(3) Barometer
(4) Hygrometer

Which State is the
producer of Maize ?

(1) Punjab

(2) Uttar Pradesh
(3) Kerala

(4) Rajasthan

leading

Konkan Railway connects these
two places :

(1) Mangalore and Panaji
(2). Panaji and Mumbai

(3) Mumbai and Mangalore
(4) Pune and Mangalore

Kangra valley is situated in
(1) Haryana

(2) Himachal Pradesh

(3) Punjab

(4) Jammu and Kashmir

GK-1/2011

31.

32.

33.

Assertion A: Cricket is popular
in  Australia, South Africa,
Indian Sub-continent and West
Indies.

Reason R : The game spread to
these countries with British
colonial settlement.

Choose your answer from any
one of the following :

(1) A andR are right and R is

~ the reason for A.

_ (2) A and R are both right but

R is not the reason for A.
(3) A isright but R is wrong.
(4) A is wrong but R is right.

The Security Council Resolution

1973 approved a ‘No-Fly Zone’

over Libya in March 2011,

authorizing  ‘All  Necessary

Measures’ to protect civilians by

a vote of 10 in favour, none

against, and 5 abstentions. The 5

abstentions were from

(1) Columbia, Portugal, India,
Germany, South Africa

(2) China, Russia, India,
France, Columbia

(3) South Africa, Portugal,
France, Germany, Brazil

(4) Brazil, China, Germany,

- India, Russian Federation

Karnataka’s share in the total
geographical area of India is

(1) 5.85 percent

(2) 6.35 percent

(3) 8.36 percent

(4) 3.53 percent




34, IHod o8, WIBACTIT AONT WTTH
WIS Tk W RTFRTIND,

33Ty

oI mzséaoa’

Wmd'ba’o‘mmc_t? ?

(1)
(2)
(3)
(4)

3s.
(1)
(2)
(3)
(4)

ToeTow®

YVZT T3¢
&R0

LY Zhe

DAY VT 1 IR ?

THAZO
b
dz,éeraaﬁ
&od

36. m%@oﬁ: (aDIAV > &-'*oc?s.raéen‘ bbplcte)

©QoLT(NREGA )=,

203

SATOR ORIl Tu‘aaé% AFET
oINPT 7

(1)
(2)

(3)

(4)

37.

O TIVUT Fots® - 1989-1990
Tog eoh TEATYT 3 EaL
(NDA), 1999-2004

oxglat Hpnrat BHzew
(UPA)-I 2004-2009

owget Bprrst HIFew
(UPA)-IT 2009-

TE0TT LB, 03T Som.TYoHe)
o ™

A Seed AT Imet oS
| 203T RO SnT BT (RTSOD
DWYoIA 20098 eIT 21 Tomd

BQITIR  QSLFATT.

&2 Jo mﬁw@

o3RYd ?

(1)
(2)
(3)
(4)

GK-1/2011

Wm0 SHFTE RATO? KEOCAT
8ot qorior® BRTo® AedeT®
AOTW[HT® BRTTT 10T
toBrededona’ LaIn® FeTof
Higalen

(10- A)

38.

39.

40.

ARNYY oI IF Deomedd
DOV TOTISA..
[t plTen ) sYeo
(1) oemd mcsaq}
(2) Py 0d
3) =nwF O
(4) JBpeee® b5l
@869 QAcIRT b F¥gom

CeT/BeIne' BFLORTN WTANS-
B RGYODT> RHPETT BT

THAGS.

a. »o3

b. Sreow

c. o

d. =tmd

gt 3.@%0’03 Hoge3nvolw ®O
LUZTHRY, Bod, TNa.

(1) a, b, c &3 d=0osRNE.
(2) a, b @I cTOIN.
(3) a3 b=OoIPNS.

(4) a=w3,=O ad.

QRNYY oINYE 3FH TRomTF

DOLTIY, THTHEY.
] ' (2131
(1) o3worvd Bew
(2) S[peen Ty
(3) méaméz.ﬁ o Sten) e:aéocsf
(4) odoPewnt widc




34.

35,

36.

37.

Prime  Minister Manmohan
Singh is an elected Rajya Sabha
Member from which State ?

(1) Punjab

(2) Uttar Pradesh

(3) Assam

(4) Himachal Pradesh

What is the official language of
Manipur called ?

(1) Manipuri

(2) English

(3) Meiteilon

(4) Hindi

The National Rural Employment
Guarantee Act (NREGA) was
first passed by the following
Coalition Government.

(1) The National Front, 1989-
1990.

(2) National Democratic
Alliance, 1999-2004.

(3) United Progressive Alliance
I, 2004-2009.

(4) United Progressive Alliance
I1, 2009-

Saina Nehwal made history on
June 21, 2009 by becoming the
first Indian woman to win which
major badminton tournament ?

(1) China Masters Super Series
(2) All England Super Series
(3) Singapore Super Series

(4) Indonesian Open Super

Series
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Which of the following is not
correctly matched ?

Temple Town
(1) Meenakshi Madurai
(2) Vishwanath Kashi

(3) Jagannath Puri
(4) Vithoba " Pune

In the following country/
countries of South Asia, we have
had popularly elected women as
heads of government :

(a) India

(b) Sri Lanka
(c) Bangladesh
(d) Pakistan

Choose your correct answer
from the code given below :

(1) a,b,candd are correct.
(2) a, b and c are correct.
(3) aand b are correct.

(4) aonly is correct.

Identify the incorrect
combination.
River Country
(1) Yangtze  China
(2) Volga Russia
(3) Danube  Switzerland
(4) Euphrates Turkey
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20118 23 759 §3FY oewTes®
A0NT® BT Q) FO Tod; Feman
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(1) 2

(2) 4

(3) 3
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(1) I@emest ey

(2) =oacoT® a,:‘é,ga

(3) w©rCI® eV
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(1) =3 wory

(2) wog, =B

(3) ©vIT J@eI

(4) 3oy

V0T TR oI TRT ROToF B¢
(1) agows

(2) Srpdoz®

(3) aommot

(4) Bm3e




41.

42.

Which one of the following

Commission/Committee probed

condition of
of Muslims in

into  relative
development
India ?

(1) Justice Ranganath Misra
(2) Justice Rajinder Sachar
(3) Justice Chinnappa Reddy
(4) Justice Somsekhar

According to 2011 Tiger census,
the State with highest tiger
population is

(1) Gujarat

(2) West Bengal

(3) Karnataka

(4) Madhya Pradesh

43. Match | and 2 and identify the
correct answer from the code
given below :

List—1 List—2
Authors Books
A. Salman 1. The God
Rushdie of  Small
Things
B. Vikram Seth 2. The White
Tiger
C. Aravind 3. A Suitable
Adiga Boy
D. Arundhati 4. Satanic
Roy Verses
A B C D
(1) 4 3 2 ]
(2) 2 3 1 4
3) 3 4 2 1
4 1 2 3 4
GK-1/2011
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44,

43.

46.

47.

48.

The player who beat Federer to-
occupy the world no. 2 position
is

(1) Robin Soderling
(2) Rolland Garros
(3) Nevok Djokovric
(4) David Fesser

In the world cup cricket 2011,
number of times Yuvraj Singh
declared Man of the Match is

(1) 2 (2) 4
(3) 3 (4) 5
Pakistan’s only Christian

Cabinet Minister killed recently
is

(1) Shahbaz Bhatti
(2) Taseer Bhatti
(3) Asia Bibi

(4) Zafar Masih

According to National
Investigation Agency’s latest
report, Pakistan’s terror outfit
Lashkar-e-Toiba (LeT) is
recruiting youths from

(1) West Bengal

(2) Andhra Pradesh

(3) Uttar Pradesh

(4) Kerala

The least corrupt nation in the
world

(1) Finland

(2) New Zealand

(3) Singapore

(4) Denmark




49.

50.

51.

52,

53.

DY A0S OF Qo wIdEeRHE
(AILDIeLE

(1) - Sesfe 23

(2) =este 26

(3) iste 22

(4) Sesfe 19

a3eadrt FFOF 0T NFITE
HOPYER WRL,0N TTITEI

(1) BRecdodn eada®

(2) =Oea® e,

(3) «2Oxls* Lot

(4) Hoed @E®

wF @eﬁia T NosTRWFT R en)
(1) z2eOodhT® wmpoed

(2) wout T0TE,

(3) #Rpemot O

(4) G epueot

QAT0TFTD RWTOWOIN WIS wed
VT YT BF0F
(1) oese 9
(2) =wue 11
(3) e 13
(4) =3¢ 15
BC0T, WHETT  FoPW Foodemde
o3Th ?

(1) 2308, Sea00

(2) WFeRe® cIpdn®

(3) eIozs

(4) =o2esy wemes’
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54.

55.

56.

57.

58.

 FdTor FeoRgod nlp S RIEIOM V(o)
JeFTSOL0 VTIFHRT.
(1) &.28. goas®

(2) 2.3 sRtoww

(3) F.uTf. SRR

(4) &.8. ORI

288t WwoovQoos Sdoind
©3 3T SR

(1) Beey, S0enTse

(2) SO0 MRS

(3) wpep mem®

(4) TS

CTOED TIWLPN TFTL oR[TF,
RHowoRAT ?

(1) Somss =

(2) =vaowves (Euthanasia)

(3) neRTE TR

(4) =RISF FFoe

Foordd  ATE TR ST
FReBRY FYFor U¢ IDAFolEY
2.8e28n QR

(1) 3ert

(2) A

(3) eend

(4) aertsao

2G Brices oITHEE, RoWoHAS ?

(1) 3ges®

(2) Bover afjees

(3) BeSROTTE

(4) w3 TR TreemB (money
" laundering) -
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50.

51.

52,

53.

World water day is celebrated on
(1) 23" March
(2) 26" March
(3) 22" March
(4) 19" March

Popular Hollywood actress who
died recently of cancer

(1) Sophia Loren
(2) Marlin Monroe
(3) Elizabeth Taylor
(4) Mary Douglas

The Chief Editor of Wiki Leaks
1S '

(1) Julian Assange
(2) Bob Hanks

(3) Christopher Lee
(4) Dave Barber

A devastating Tsunami hit Japan
on

(1) March, 9

(2) March, 11
(3) March, 13
(4) March, 15

The Cabinet Secretary of Union
Government is

(1) Chandrashekar
(2) Shyamlal Yadav
(3) Ananth

(4) Sanjiv Bajaj

GK-172011

54. The Central Vigilance
Commissioner whose
appointment has become
controversial.

S8.

56.

57,

58.

(1) P.J. Thomas
(2) P.K.Kalmadia
(3) K.R. Mathew
(4) P.D. Dinakaran

The Libyan President who is
recently in news

(1) Hosni Mubarak
(2) Muammar Qaddafi
(3) Abdullah Saleh
(4) Hussain Ali

Aruna Shanbaug case was
related to

(1) Dowry-death
(2) Euthanasia
(3) Deportation
(4) Defamation

The Karnataka Government
recently banned in Malnad area

_ plantation of

(1) Teak

(2) Tamarind
(3) Eucalyptus
(4) Shikakai

2G scam refers to

(1) Cricket

(2) Real estate .
(3) Tele-communications
(4) Money-laundering
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60.

61.

62.

63.

hpetclafiatolald o3z Qe (Fighter
aircraft)s &aTH !

(1) PFzoos

(2) Seoaf

(3) e2zeea®

(4) Seww®

RTIT  JWeToct TookETBEOD
TR :

(1) 0.3. STeODHRTE

(2) =oTocHe? TRT

(3) o= ToTt

(4) #n.3.2¢

WRRAE Qo0 FET  TIW
3 Sedodw (Cruise missile) 84 3vzo
RO oeany ST 2083
TZ3eenc Esforvcfia Fomn
Cagnieol . _

(1) 2P0 3, o,

(2) R0 DHK Fookog WO

(3) 2PTS DF FT°,

(4) 2PT T TPededow

BT LBEAME TR FHO Qb
Y
(1)
(2)
(3)
(4)

gon

QDAY

L3 ned
- 2ot
TIeeIThon o‘.}a:,gdﬁ
25030,03500 AAEP BT :
(1) Beamw

(2) BeIPIPOY

(3) =ouEd Dy*
(4) o=

a.8edn
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64.

65.

66.

67.
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(3) wexd 565353303361&
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59. The first Indian fighter aircraft is
called :
(1) Vijyanta
(2) Lejas
(3) Arjun
(4) Tejas

60. The Foreign Secretary of India is
(1) M.K. Narayanan
(2) Narayan Rao
(3) Nirupama Rao
(4) G.K Pillai

61. BrahMos which is a supersonic
cruise missile, is the outcome of
a joint collaborative effort
between
(1) India and Russia
(2) - India‘and United States
(3) India and France
(4) India and Romania

62. The headquarters of the Arab
‘League is based in
(1) Cairo
(2) Istanbul
(3) Tripoli
(4) Beirut

63. A film star recently elected to
Rajya Sabha from Karnataka is
(1) Rekha
(2) Hemamalini
(3) Parvathi Melton
(4) Ramya

GK-1/2011

(17-A)

64.

65.

66.

67.

Why is pure (24 Carat) gold not
suitable for making jewellery ?
(1) Pure gold does not sparkle
very much.

(2)

Pure gold is too soft to be
used in jewellery.

It is extremely difficult to
retain its purity.

Pure gold is extremely rare
to obtain.

(3)
(4)

The majority of the people of
Bahrain are

(1) Shias

(2) Ahmediyas
(3) Sunnis

(4) Parsis

The President of Afghanistan is
(1)) Mohammed Usman Karzai
(2) Hamid Karzai

(3) Hamid Kafiullah

(4) Mohammed Bhatt

The nuclear reactor that was
severely damaged during the

March 2011 earthquake and

Tsunami in Japan is

(1) The Kashiwazaki Kariwa
nuclear plant.

(2) The Fukushima Daiichi

- nuclear plant.

(3) The Higashi-Dori nuclear
plant.

(4) The Hamaoka nuclear
plant.
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69.

70.
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68.

69.

70.

“God’s own country” is a phrase
often used with reference to
which State in India ?

(1) Goa .

(2) Himachal Pradesh

(3) Karnataka

(4) Kerala

The intensity of earthquakes is
measured by

(1) A seismograph

(2) Seismogram

(3) .Barometer

(4) Hydrometer

A satellite is in orbit around the
earth in a circular orbit. If it is
taken to an orbit of lower radius
by remote control:

(1) The gravitational force on
the satellite and its speed
increase.

The gravitational force on
the satellite increases but its
speed decreases.

The gravitational force on
the satellite decreases but
its speed increases.

(2)

(3)

(4) The gravitational force on
the satellite and its speed
decrease.

71. The Committee headed by the
former Supreme Court Justice
B.N. Srikrishna was constituted
to come out with various
recommendations/options
pertaining to
(1) The Bodoland issue
(2) The Mizo issue
(3) The Gorkhaland issue
(4) The Telengana issue

GK-1/2011 ’
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T2,

73.

74.

A jet engine works on the

principle of
(1)
(2)
(3)
(4)

Einstein’s relation E = mc2
Conservation of mass

Conservation of energy

Conservation of linear

momentuim.

The bristles of a paint brush stay
apart under water, but cling
together when taken out. This is
because of

(1)
(2)

viscosity of water

the sticky nature of the
paint.

adhesive forces between the
bristles.

(3)

surface tension.

(4)

Which of the following is an
example of Doppler effect ?

(1) Sudden increase in the pitch
when a sound source is
moving away from the
listener.

(2) Sudden increase in pitch
when the listener is moving
away from the sound

source.

(3) Sudden drop in pitch as a
moving  sound  source

passes the listener.

(4) Continuous drop in pitch as
the sound source

approaches a listener.
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76.

77.

78.

How does blotting paper absorb
ink ?

(1)
(2)
3)

Through absorption.
By capillary action.

Chemical reaction of paper
and ink.

(4)

By ionization.

Soap bubble appears coloured. It
is due to

(1)
(2)
3)
(4)

Scattering
Interference
Reflection

Refraction

Curding of milk is an example of
(1)
(2)
3)
(4)

Inversion
Hydrolysis
Denaturation

Coagulation

The sky appears blue because

(1) Blue light is scattered most

by the atmosphere.

The velocity of blue light
being greater than that of
other colours, it reaches the
observer first.

The intensity of blue light
from the sun is more.

(2)

3)

(4) Light of blue colour is
absorbed the least in the

atmosphere.

GK-1/2011
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80.

81.

82.

83.

In GI pipes corrosion of iron is
prevented by a coating with

(1)
(2)
3)
4)

Aluminium
Tin
Zinc

Magnesium

Due to pollution a sample of
river water was found to be
acidic. Its pH would be

(1) 5.3 2) 7.4
(3) 105 (4) 14.0

A refrigerator is working under
the principle of

(1) First law of thermo-
dynamics.

(2) Second law of thermo-
dynamics.

(3) Joules law.

(4) Coulomb’s law.

In TV Communication

is preferred.

(1) Amplitude Modulation

(2) Frequency Modulation

(3) Phase Modulation

(4) Wavelength Modulation

The metal present in chlorophyll
is

(1) Iron

(2) Copper

(3) Magnesium
(4) Zinc
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The brilliant mathematician S
Ramanujam referred to a number
as “ it is very interesting number.
This number is the smallest
number expressible as the sum
of two cubes in two different

ways.” What is this famous
number ?

(1) 1000 (2) 1729

(3) 1800 (4) 1829

The hot (Spicy) nature of chillies
used in Indian cooking is due to
the presence of Capsaicin
(Capsaicinoids). Where exactly
are Capsaicinoids found inside
chillies ?

(1) Inthe seeds
(2) Inthe stem
(3) Outer membrane

(4) Inner membrane

The website www.twitter.com,
is nowadays used by people of
various backgrounds to post
views and comments. Who
created twitter ?

(1) Mark Zuckelberg
(2) Sabeer Bhatia
(3) Jack Dorsey

(4) Jimmy Wales

87.

88.

89.

(23 - A)

The term algorithm refers to
well-defined list of instructions,
used in  mathematics and
computer science. What is the
origin of this name algorithm ?

(1) Indian

(3) American

(2) Persian

(4) Chinese

Why is water not used to fill
vehicle tyres instead of air ?

(1) Water is far less
compressible than air.

(2) Water can freeze in winter
and cause balancing
problems.

(3) Water is more expensive
than air.

(4) The water may react with
the tyres.

Usually after heavy rains, a
peculiar pleasant smell s
experienced. Why is this ?

(1) Due to certain chemicals
dissolved in the rain water.

(2) Due to the action of certain
bacteria growing in the
damp soil.

(3) Due to the dampness of
plant (tree) leaves caused
by the rain.

(4) Due to the
associated with
breeze.

chemicals
the wet
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IRTUST S08Y, TORTPRBETES
Zonn  wIpeey TOOORT

()

TPYT ©g o3 Yelore!
ToIR RSN ¥ iecE
WOT OB

(3) »UsT mané mso&maésﬁ@b
DR chwcqm!.& oo,
T FROTL.

(4) RTUIE B0L, TUOHTRISETI
WDHF ToweTey ¥y T.0IR-

[BloNsng maaaé méoﬁm'aa&'ﬁ%‘a.

LRUSOR  TWOLRTOTT  FYFor
o e.eaba%ed@ TowopTEy DFoH
TRAT wIevYIEE eoma@mﬁ
FoeOTeh, 2.3,003Teh )
LEowRINYY, uosn ITTE,N
RIRBNYIY SEeD momgn
BEFTITRFH TR, JB3VoI=IA ?

(1) oWew 372 (2)

(2) eab%ea‘ 51 (C)

(3) exvelem 372 (1)

(4) eamz.zecs 253




90 In case of conflict between

91.

GK-1/2011

Union law & State law in respect
of an item enumerated in both
the State & Union list

(1) Union law will prevail.

(2) State law will prevail with
the territorial limit of that
State.

(3) Union law will give way to
State law.

(4) Both Union as well as State
law shall have the same
effect.

As per the Constitution of India,
if a person is chosen as a
Member of Parliament and also
in House of a Legislature of a
State, he/she

(1) has to vacate the seat in
which he was elected earlier

(2) has to vacate the seat in

State Legislature as
Parliament is important
than State

(3) has to vacate one seat at his
option either of Parliament
or State Legislature

(4) if he does not vacate one of
the two seats in the period
specified by rules made by
President, his seat in
Parliament shall become
vacant

(25 - A)

92.

93.

94.

Which of the

concerned with Accounts of

Union and also known as

guardian of ‘Public Purse’ of the

Union of India ?

(1) Comptroller and Auditor
General of India .

(2) Finance Minister

(3) Planning Commission

(4) Finance Commission

following is

Judges of the High Court are
appointed by President in
consultation with :

(1) a collegium consisting of
Chief Justice of India and
two senior most judges of
the Supreme Court.

(2) a collegium consisting of
Chief Justice of India and
four senior most judges
of the Supreme Court.

(3) Chief Justice of India and
Governor of the concerned
State.

(4) Chief Justice of India and
Chief Justice of the
concerned High Court

Which one of the following
Articles in the Constitution of
India reflects the power of
Parliament to make laws for
giving effect to international
treaties, agreements and
conventions without.limit of its
subject matter ?

(1) Art372(2)

(2) Art51(C)

(3) Art372(1)

(4) Art253
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81 NI oD Feom, ReBod
803y Aedy ?

(1) e9028 Reas

(2) ugg

(3) ¢3, TVAnegS DY) ST
(4) =TEHAT e:*cifaerfé

tﬁci‘,::_‘ TORT DTS, IE :‘u"@éé
mcﬁ@ CTBOH MOF WY

(1) i3 27 Senied

(2) e =ORS wa’.@m‘fa’o&
ReREODTRY, BAUMAE BIROB
BT oneh.

1 I&|E

oY TIOHIL  OFT TR
o Ies =on DTFOT
TIONRR AT,

(3)
(4)

H PR  omem wWowpkend
U‘a%ﬁéo&:ﬁﬂ?ﬁ@ CTatan) petcleg
olPde  PTTTND  Feog,
drezhess sodeendeodnt
ARG eedBPHH FERODETNTH-
0?7

(1) Bodgesm 3353 eaab?{:eda’
TAODY WHToIH HoBNY
HOWYE.

SewTSNTR, DTN B
TOFIeTow IZNY Rowyie,
ReSobdert Y
SOFUBAROR ©Bog TANR
(Injuries) FoWoRATZ
2023030, VT Tomge.
BT DToBNIR  WowoRATo
WIFIMY DI, VRENY Tomyde

(2)

(3)

(4)

98.

99.

T 3eod LleIAaphiat ‘Basic
Structure  Doctrine” & ¥oics
BRBOR ACRIRLRT Romle

(1) 33T 2T V 3eTY Tots,
(2) .32 Recmos® V Somn oo
(3) Zowd TFT V (RUT FEeT

(4) Recogng V Soees® oo,

2RTEC0R HOLTORT D[FT & IENT
OIS TR, TAVLIRT BFZNTJOY ?

(1)
(2)
(3)

TIdoh B,
0F° WI0Y, ﬁcﬁ T,

PRI,
=2,

WHRANRIRTYT

(4) % DT T,

100. Todgesas & 39N oI eaaba%ea‘@

14 SRAE308 IVTODRT  DFYRY
FOSRER, N BF T VAIT LToHF0O
NBRLNNYY Jeahd TRRTLARDT,
QReQEIA ?

(1) eaﬁz%ecf 24
(2) eded21A
(3) wabz%ec:’ 45

(4) es:ba%ea‘ 23

GK-1/2011
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Which one of the following is
not included in Union List ?

(1) Postal service

(2) Defence |

(3) Audit and Accounts
(4) Public Health

Maximum period of
proclamation of emergency
unless revoked is —

(1) 2 ' yearsin all.

(2) 6 months from passing of
the ~ resolution of
proclamation of emergency.

(3) 1 year.
(4) Infinite till revoked by

President or Parliament.

In which one of the following
cases it is not mandatory for the
President or any other authority
to consult the Union Public
Service Commission ?

(1) In matters covered by Article
335 of the Constitution.

(2) Principles to be followed in
making appointments.

(3) Award of pension in respect
of injuries sustained by
a civil servant while in
service.

(4) Memorials and petitions
pertaining to disciplinary
matters.

98.

99,

100.

The ‘Basic Structure Doctrine’
of the Indian Constitution was
first formulated in

(1) Kesavananda Bharati
V.State of Kerala

(2) A.K.Gopalan V. State of
Madras

(3) Shankari Prasad V. Union of
India |

(4) Golaknath V. State of Punjab

Which of the right below is not a
fundamental right under the
Indian Constitution ?

(1) Right to Equality
(2) Right to Freedom of Speech
(3) Right to change Religion
(4) Right to Work

Which of the following articles
of the Constitution prohibits .
employment of children below
14 years of age in factories,
mines or other hazardous
employment ?

(1) Article 24
(2) Article21 A
(3) Article 45
(4) Article 23

(27 - A)




z&a’;«_ﬁudﬁﬁdﬁ %@
SPACE FOR ROUGH WORK

GK-1/2011 (28 - A)




ﬁ&dudﬁm&ﬁ agﬁ:_
SPACE FOR ROUGH WORK

GK-1/2011 (29-A)




z?;s:_uzadaﬁadﬁ z@@
SPACE FOR ROUGH WORK

GK-1/2011 (30 - A)




BLRTETN Y
SPACE FOR ROUGH WORK

GK-1/2011 (31 - A)




DONOT OPEN THIS QUESTION BOOKLET UNTIL YOUAREASKED TO DO SO

GK_[ ' 2011 Version Code
QUESTION BOOKLET A

GENERAL KNOWLEDGE

Time Allowed : Two Hours Maximum Marks : 150

INSTRUCTIONS
1. Before writing the Questiion Booklet version code in the OMR sheet,you should check
that this Question Booklet does NOT have any unprinted or torn or missing pages or
questions ecic. 1T so, get it replaced by a complete ‘Question Booklet’ of the available

series,
2. Write and encode clearly the Question Booklet Version Code A, B, C, D ...... or H, as
the case may be, in the appropriate space provided for the purpose, in the Answer Sheet.
3. You have to enter your Register Number in the Register Number

Question Booklet in the box provided alongside.
DO NOT write anything else on the Question Booklet.

4. This Question Booklet contains 100 questions. Each question contains four responses
(answers). Select the response which you want to mark on the Answer Sheet. In case you
feel that there is more than one correct response, mark the response which you consider
the best. In any case, choose ONLY ONE RESPONSE for each question.

5. All the responses should be marked ONLY on the separate Answer Sheet provided and
ONLY in Black or Blue Ballpoint Pen. See instructions in the Answer Sheet.

+ 6. All questions carry equal marks. Attempt all questions. Your total marks will depend

only on the number of correct responses marked by you in the Answer Sheet.

7. Before proceeding 1o mark the responses in the Answer Sheet, you have to write and
encode particulars regarding Register Number, Question Booklet Version Code etc., (along
with your signature and Invigilator’s signature) in the space provided for in the Answer
Sheet.

8. Sheets for rough work are appended in the Question Booklet at the end. You should not
make any marking on any other part of the Question Booklet.

9. Immediately after the final bell indicating the conclusion of the examination, stop
making any further markings in the Answer Sheet. Be seated till the Answer Sheets are
collected and accounted for by the Invigilator.

10. Questions are printed both in Kannada and English. If any confusion arises in the
Kannada Version, please refer to the English Version of the Questions.

11. Use of calculators of any kind is not permitted. '

DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOUAREASKED TO DO SO.
MOA ¢ TpeIINY 5 E Segdaty & T PYLFod ogRna SwdFY T,




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32

